KD H X5

(GtEMA)

DTNETRELEILLD,
3(|I_)IdL + 5dL
I(él)L + 1 2L4dL
f()j)L + 3L 1dL
'7(£|L_) + 6L4dL
fl)_) + 10L38dL
I((()JI)L + 9L4dL
6(|7_>2dL + 2dL
I(%)LSdL + 7L
3(C|7_) + 4L.8dL
(10)

6L3dL + 6L

F # &8

(rn

5L7dL — 4L
(12)

|OL4dL — |dL
(13)

7L8dL — 7dL
(14)

|'7L1dL — 7L
(15)

| 3L6dL — bdL
(16)

|OL3dL — 2dL
(17)

o6L7dL — IdL
(18)

| 5L5dL — 2L
(19)

41 3dL — 2L
(20)

5L9dL — 4L
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KD H X5

(GtEMA)

SENHEELELLT, T RE )
sUldL+5dL = 3Ledl  5L7dL - 4L = IL7dL
ldL+ 12L4dL = [2U5dL  1OL4dL— IdL = |0L3dL
4dL+3L1dL = 3L5dL  TLBAL—7dL = 7LidL
7L + 6LadL = I3L4dl 17L1dL-7L = l0LldL
4L+ 10L8dL = 14L8dL  13L6dL—5dL = I3LIdL
ldL+9L4dl = 9LsdL  10L3dL—2dL = [OLIdL
6L2dL+2dL = 6L4dl  6L7dL— 1dL = 6LédL
OL3dL+7L = 17L3dL  I5L5dL—2L = I3L5dL
3L + 4L8dL - 7lsdl  4L3dL- 2L = 2L3dL
(10) (20)

6L3dL + 6L = |2L8dL 5L9dL — 4L = |L9dL
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